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Fourth Semester B.E. Degree Examipdtidn; Jan./Feb.2021,'i u -!..

Data Gommunic,atibn
"ti:'"'11' 

'll;'

Time: 3 hrs. tl,rll,;,:, Max. Marks: g0

Note: Answer any FIVE full questions, cS,7Qo;tng ONE full question{5,A,,9n each module.

-*,t'-'@.@.1 '*"r-*
I a. Define Topology. Explain four,_pii3ffi6pologies. *'-:11f (08 Marks)

b. What are the factors that det-effikhether a communicatioqsirstem is a LAN or WAN?

c. Differentiate between ,.; l;;ched network and Circuit switched network. ffi ffiH3
"t

OR
2 a. With a neat diagrSlq of TCP/P protocol suite, discuss each layer of the suite. (08 Marks)

b. A line has a srgpal .- to - noise ratio of 
1,9,,,P-,*Q 

and a bandwidth of 4000 KlIz. What is the
maximum data.r-iip supported by the hne? , 

- 
(04 Marks)

c. For the given data . 0 1 1 0 0 1, plot'.',,tlie waveform for NRZ - L, NRZ- I, RZ and
Manches.t'efoline coding schemes. . .*. (04 Marks)

,,ru,,il',, 
, r#fioaule-2 r* ,

- 3 a. Explain the process of Pulse Code-Modulation (PCM), tvith illustrationq. in each process.
.::. . .:..,::*..:t1 

.; ,"&ifll]'ffi (08 Marks)
b. We have sampled a low,,,,,p*ss signal with a UffiOwidttr of 200 KHz, using 1024 levels of

i) Calculate the bit ratetif the digitized signal 
.1,,,, 

''

ii) Calculate gN-&p for this signal ,: , ..,; "iii) Calculate P,C$il''bandwidth of this:qsignal * f08 Marks)
111^

(.,,, W oR ...l:-1,"'

4 a. Discuss the following digital to anplog conversion mechanisms :
-i) ,\S , ir) FSK ii,$ 

-*SK. (08 Marks)

b. Writd"thb taxonomy of sur1i,,t$h6'tl networks and thtir presence in the TCP / IP protocol suite

layers. And explain cireu'it:SWitched network,and packet switched network with respect to
delay. (08 Nlarks)

- Module-3
, smI

5 a. Given the d4ta,{'1O01} and the diSili {1011}, simulate Cycle Redundancy Code (CRC)
using i) .Faprir - and - Pencil division process ii) Polynomials. (06 Marks)

b. Suppose the message is {7, ll,.,l2,O, 6} each of 4 bit. Calculate the qhecksum and simulate
for error free and error exa1r,1ple.

c. What is the Hamming d"istance for i) Error detection

(06 Marks)
ii) Error correction? Explain.

(04 Marks)

OR
a. Using an exanrpie, explain Stop - and - Wait protocol with Piggy backing. (08 Marks)

b. F,xplain HDlC.framing fypes. (08 Marks)
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7a.
b.

c.

8a.
b.

c.

Compare three Fast Ethernet
Discuss the hidden and
Write a short note on Blue

15CS46

(06 Marks)
(06 Marks)

(04 Marks)

(06 Marks)
(04 Marks)
(06 Marks)

(04 Marks)

(04 Marks)
(08 Marks)

(06 Marks)

(06 Marks)
(04 Marks)
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